MICANAN SYSTEMS INC.

INSTALLATION AND INSTRUCTION MANUAL

MODELS: PRO-API/APTB

2 YEAR WARRANTY

Model :

Serial #

June 2009 ; - Installation Date:

Wiring Diagram:




[ ]

TABLE OF CONTENTS

VERITFICATION OF OPERATOR AND IIARDWARE

SPECIFICATIONS

SAFETY INSTRUCTIONS _

INSTALLATION

LIMIT SWITCH ADJUSTMENT

CONNECTION OF POWER SUPPLY AND CONTROL STATION

CONNECTION OF REVERSING EDGE DEVICE AND CONTROL ACCESSORIES

CLUTCH ADJUSTMENT

BRAKE ADJUSTMENT

EMERGENCY MANUAL OPERATION

OPERATOR MAINTENANCE

MECHANICAL DRAWINGS AND PARTS LISTS

ELECTRICAL DIAGRAMS

WARRANTY

OPTIONS
MP00041-44 #40 Drive Chain
MP00023 | Double V-belt reduction
MP00007 | 115 Volt control circuit o
MP00096 | Dual timer, wiring and sockets for red/green lights
MPO0106 Dual timer, wiring and remote enclosure & red/green lights
PRO-PL Separate control panel
‘MP00024 Trolley hoist Disconnect
' MP00030,78-80 | Dual Trolley Assembly
MPO0035 Minimum Depth modification

WARNING

DO NOT CONNECT TO ELECTRICAL
POWER DURING INSTALLATION
OR SERVICING OF OPERATOR

PAGE:

10

11

12

13

13

14



Lad

IMPORTANT

FOR ANY QUESTIONS CONCERNING THE SAFETY OR
OPERATION OF THIS OPERATOR PLEASE CONTACT
MICANAN SYSTEMS AT 1-877-888-1116

VERIFICATION OF OPERATOR AND HARDWARE

Upon delivery of your MICANAN SYSTEMS heavy-duty apartment trolley door operator. please inspect
the unit carefully for damage. Verify that operator horsepower, voltage, phase and amperage correspond to
available power supply and door application. Check that along with your operator you have received the
following standard hardware.

1 x OPEN/CLOSE/STOP 3-button control station:

1 x Setof trolley tracks (door height + 2'6™)

I x Trolley track cnd bracket

\amal

1 x Frontidler ¢/w 41B12 sprocket

2 x Trolley spreader bars

1 x Trolley arm assembly

1 x Setof Warning signs

]




4

PRO-APT, PRO-APTB SPECIFICATIONS

PRO-APT and PRO-APTB heavy-duty trolley operators are designed for high cycle standard lift overhead
sectional garage doors. Model PRO-APTB is essentially the same as model PRO-APT with the exception
that the PRO-APTB operator has a solenoid operated braking system.

STANDARD OPERATOR WEIGHT: 55-75 Lbs

MOTOR: Continuous duty 1725 RPM industrial type motar.
- Built-in overload protection (3-phasc) or separate full overload protection (1-phase).
- Iorsepower; 1/2HP, 3/411P
- Voltage: 115V 1-phase 230V 3-phase
230V 1-phase 460V 3-phase
575V 3-phase

REDUCTION: Primary: (51.) V-belt and pulleys (27 to 97 diameter)
Secondary: #41 chain and sprockets

OUTPUT SHAFT SPEED: 120 RPM DOOR SPEED: 12"/second

BRAKE (Model PRO-APTB): Solenoid actuated drum and brake shoe braking systcm to prevent coasting
and maintain door position.

WIRING TYPE (STANDARD): T (Timer to close) wiring , momentary contact on open, close and stop.
1.5 sec time delay on reverse. Wired to accept reversing edge, radio control, photocells, loops and
OPEN devices. Optional wiring for dual timer with red and green traffic lights

TRANSFORMER: 24VAC control circuit, supplies power to drive control relays with 15VA power
available for external devices. 120VAC transformer supplied (50VA) for red/green traffic light
option,

LIMIT ADJUSTMENT: 4 micro switches that control door travel. These limit switches are activated by
fully adjustable screw type cams.

EMERGENCY DISCONNECT: Quick release disconnect door arm to allow person to disengage
operator drive chain from door for manual operation.

CLUTCH: Adjustable [riction clutch to minimize damage to door operator, door or vehicles when
obstruction occurs.

OPERATOR DIMENSIONS:

' DOOR HEIGHT PLUS 4 FEET ¢MINIMUM)
‘ 24-7/8"
1 i
3 9-1/2"
HIGH ARC OF DOOR
th =M
e ol i
M
: P 13 7/8
= ﬂ%tﬂ (It
P |l
g L ; AT 0
D : | )
ara)




SAFETY INSTRUCTIONS |

- WARNING

TO REDUCE TIIE RISK OF INJURY OR DEATH:

READ AND FOLLOW ALL INSTRUCTIONS

Do not allow children to play with door.

Before installation, be sure that operator is suited for type of door and application

Connect a reversing device to prevent entrapment if door is Jocated near pedestrian traffic.

Place control device within clear sight of the door but at a minimum distance from the door so that user
cannot reach moving door parts when operating.

Outdoor external devices should have sccurity features to prevent unauthorized operation of the door.
Never cross under a moving door.

Press the “OPEN” device or activate quick release disconnect device if a person is trapped under the
door.

Do not use disconnect mechanism or manually operate door unless power has been electrically
disconnected.

Keep doors properly maintained. Test door and service regularly. Have a qualified service person make
repairs. An unmaintained door system could cause injury or death.

The owner or users must understand the safety and operation of door system. Insure that this

installation manual be located close to the door system.



INSTALLATION INSTRUCTIONS

~ WARNING

DO NOT INSTALL THIS OPERATOR
BEFORE READING THIS MANUAL CAREFULLY.

Note:  Installation of operator must be donc by a qualificd installer. Door must be properly mstalled and
working smoothly. Remove all door locks prior to installation.

1. Install control station away from all moving door parts, within sight of the door and a minimum of
5 f1 (1.5 m) from the ground.

2. Install entrapment warning sign next to control station.

WARNING




PREPARATION:

L. Lay out operator and trolley tracks on ground in front of door with door operator motor [acing
away from door.

2, Install track spacers evenly to track assembly.
3 Install 3/8” take-up bolt (o carriage using two 3/8" hex nuts and lock washer provided.
4. Slide trolley carriage through end of tracks towards operator with take-up bolt facing operator.
5 Install front idler assembly to the second set of holes end of trolley tracks.
6. Bolt rail assembly to operator frame using four 3/8” x %" bolts and 3/8” serrated hex nuts
provided.
TOWARDS
DOOR o
T TOWARDS

OPERATOR

TAKE-UP-BOLT

HEX NUT 3/8-1BUNC 3/8—186UNC

LOCK WASHER 3/8 HEX NUT 3/8~1BUNC

CARRIAGE ASSEMBLY

OPERATOR

T Attach one end of drive chain to carriage using connecting link provided. Run chain around front
idler, over the track spacers, around drive sprocket and connect to take-up-bolt using connecting
b k1

link provided. Adjust take-up-bolt so that chain sags approximately 3” (7.5 ¢m) at midpoint of
tracks. Remove links from drive chain if necessary to make proper adjustment,

FRONT IDLER
TRACK SPACER
s, GARRIAGE OPERATOR
. I~ DRIVE SPROCKET
S .hh"l‘i
i'" \
CONNECTING 2 \4.
LINK y -

LINK
TAKE-UP BOLT



WALL MOUNTING BRACKET AND OPERATOR INSTALLATION:

NOTE: Trolley type operators should generally be mounted directly over the center of the door and the
trolley tracks should clear the tracks by 2-1/2” (6.5 ¢cm). However, if inter{ering structures or other reasons
do not allow for centered mounting, it is possible to install it up to 18" off-center for torsion spring doors.

1. Locate the center of door by measuring door width and mark a vertical line above the door.
2. Dectermine the highest point of door travel by manually opening the door. Using a carpenter’s level,

project a line from where the top section of door reaches its highest point. Mark the spot where this
line (high arc) intersects with the vertical line drawn earlier.

CARPENTER'S LEVEL WaLL

—————— HIGH ARC POINT

3. Mount a wood block or angle iron to the wall above the door opening as shown below. The wall
mounting bracket has 3 holes for anchoring to wood block or angle iron. Bracket should be centered
with door and positioned so that these holes are 2-1/2” (6.5 cm) above the high arc line of door. Sccure
wall mounting bracket using suitable hardware.

CENTER DOOR LINE

MOUNTING PAD

HIGH ARC LINE

4.  While allowing motor to rest on floor, raise front end of track assembly and secure (but not tighten) to
wall mounting brackets with 3/87 bolts and nuts provided.

z \ s

5. Swing the operator and track assembly above the level of the door tracks and temporarily secure in
place with rope or chain. Carefully open door. Align operator and rails with center of door. Using the
door as support, shim the operator so that there is 37 (7.5cm) clearance between door and bottom of
operator. Tighten wall mounting bracket bolts.




6. Install hanging brackets (braces) from ceiling or structure to any of the five 3/8” holes located on
operator frame. For tracks over 14° long it is recommended to install braces to the tracks at 47(1.2m) to
57 (1.5m) from operator.

BRACES

TROLLEY ARM INSTALLATION

1. Manually close door to fully closed position. Slide trolley carriage towards front idler and latch trolley
arm to carriage spring pin by pulling on rope. When installed the open side of notch should face the
door.

2. Using 3/8" bolts and nuts provided, align the mounting holes of straight arm and curved arm so that
pivot bolt on door bracket is in line with the top rollers of the door. Align door bracket with centerline
of door and secure to door using suitable hardware.

PIVIT BOLT

TROLLEY ARM

TOP DOOR ROLLER

L

When properly installed the door arm should lean slightly away from door when door is fully closed.

CARRIAGE PIN

EMERGENCY

SLIDING BRACKET DISCONNECT ROPE

!ono:ann

4. At this time, check all bolts for tightness.



10

'LIMIT SWITCH ADJUSTMENT

Adjustment of door travel is done by moving the limit cams on the threaded shafl. The position of
the 4 limit switches are factory adjusted and should not be altered. The limit switches are:

- “Qpen” limit switch: End of door travel in the fully open position

- “Closed” limit switch: End of door travel in the fully closed position

- “Auxiliary Open” limit switch: Used for timer (o close features

- “Advanced Closed” Limit switch: Used to prevent reversing device from reversing
door when door is almost fully closed.

WARNING

TO REDUCE THE RISK OF INJURY OR DEATH:

DO NOT ATTEMPT TO MAKE LIMIT SWITCH ADJUSTMENTS
UNLESS POWER HAS BEEN ELECTRICALLY DISCONNECTED

To adjust door travel:

L.

(5]

Open cycle: Depress cam plate and spin “Open” limit cam away from “Open” limit switch o
increase door travel or spin “Open” limit cam towards the “Open’ limit switch to decrease
door travel. Alter each adjustment ensure that cam plate fully engages in slots of both limit
nuis.

Adjust “Open” limit cam so that door stops at the desired fully open position.

Closc cycle: Depress cam plate and spin “Close” limit cam away from “Close” limit switch (o
increase door travel or spin “Close” limit cam towards the “Close™ limit switch to decrease
door travel. Aflter each adjustment ensure that cam plate fully engages in slots of both limit
nuts,

Adjust “Close” limit cam so that door stops at the desired fully closed position.

CLOSE LIMIT SWITCH —

CLOSE LIMIT CAM — AUXILIARY OPEN LIMIT SWITCH
_\ |— OPEN LIMIT SWITCH

CLOSE/RERMER OPEN/OUVRIR

ADVANCED CLOSED LIMIT SWITCH— LOPEN LIMIT CAM\V CAM PLATE



11

CONNECTION OF POWER SUPPLY AND CONTROL STATION

WARNING

COMPARE AVAILABLE POWER SUPPLY VOLTAGE TO OPERATOR NAMEPLATE PRIOR
TO ELECTRICAL CONNECTION. FAILURE TO CONNECT APPROPRIATE POWER SUPPLY
VOLTAGE MAY CAUSE SERIOUS DAMAGE TO OPERATOR.

Reler to electrical diagrams inside control box cover or at the end of this manual prior to connection of
power supply or control station.

~ WARNING

TO REDUCE THE RISK OF INJURY OR DEATH:

ALL ELECTRICAL CONNECTIONS SHOULD BE MADE BY A QUALIFIED SERVICE PERSON

DO NOT ATTEMPT TO MAKE ELECTRICAL CONNECTIONS TO OPERATOR UNLESS
POWER SUPPLY HAS BEEN DISCONNECTED AT FUSE BOX

OPERATOR MUST BE CONNECTED IN ACCORDANCE TO LOCAL ELECTRICAL CODES
AND GROUNDED TO GREEN GROUND L.UG LOCATED INSIDE CONTROL. BOX

POWER WIRING: Use 1-1/8" (2.85 cm) diameter holes tor all power wiring.

1. Single phase: Connect single phase power supply to terminals L (line) and N (neutral) on three-pole
power terminal strip.

2. Three-phase: Connect three phase power supply to terminals L1, L2 and L3 on three-pole power
terminal strip.

1—PHASE 3-PHASE 3 BUTTON CONTROL STATION
X||XD||® R|X|®
OllLllin @) O || L 2|| L3f|© <=
&®

L N L1 L2 L3

CONTROL WIRING: Use 7/8” (2.22 cm) diameter holes for all control wiring.
Note: Do not run control wires and power wires in same conduit.

- Install control station within clear sight of door but away from all moving parts of door or hardware.
Install Entrapment warning sign next to control station. Connect 3-button (open/close/stop) push button
station (o lerminals 2, 3, 4 and 5. Refer to electrical diagram for connection of two 3-button stations.

NOTE: After electrical connections are made, manually move door to mid-position and, using the control
station press the “Open” button for several seconds and then press the “Stop” button. If door did not
move in correct direction verify wiring control station. For 3-phase operators, if door still moves in
wrong direction reverse any two of the three incoming power supply leads to correct rotation.




CONNECTION OF A REVERSING EDGE _D_EVIC-}__S_AND CONTROL A__CC_ESSORIES .

fad

0.

Reversing Edge device (must be normally open contact):

Note: 1T’ the door is controlled by any device or wired in such a manner that the door is not
controlled by constant pressure on close then an appropriate reversing edge must be installed.

FEEIEE
|34 5] 6

External interlock: Remove jumper between terminals 1 and 2 and wire interlock between these two
terminals. S —

(@@
oll1]2]|<

Radio control receiver: Wire standard radio receiver to separate radio strip on side of control box or
to terminals 7, & and 9 on control terminal strip inside control box.,

e ®||®||®
1z a <. ||71]8] 9|0

Single button open device: Wire to terminals 7 and 8 on control terminal strip.

MR®
71 8| <

1

Loop detectors, photocells and other reversing devices: Wire to lerminals 3 and 6 on control

terminal strip.
]

®||®||®||@
<1|3][4]|5]6

RIS

T,

24 Volt power: Wire to terminals 1 and ¢ on control terminal strip

CONTROL TERMINAL STRIP

®®_%o
T

®|®|®]
21 3

4
|| ®|| &)

@ ®
s|[ell7]l8
®||R|®[|&®

—{ &S




CLUTCH ADJUSTMENT

Ld I —

Remove cotler pin tapped to pulley.

Rotate clutch nut CCW (loosen) until there is insutlicient tension to permit cluteh to drive door.
Gradually tighten clutch nut until the tension on belleville washers is sufficient to permit clutch to
drive door smoothly but will allow clutch to slip if door is obstructed. It should be possible to stop
moving doar by hand if clutch 18 properly adjusted. =

Lock clutch nut in place by inserting cotter pin.

CLUTCH PAD—\ COTTER PIN
CLUTCH PLATE—\H\\I

Il
Il
Hrm
| ﬂ@
I
1l CLUTCH NUT

CLUTCH PULLEY—"] BELLEVILLE WASHERS

BRAKE ADJUSTMENT (For model PRO-APTB)

The brake adjustment is factory set and should only require minor adjustment afier extensive use.

Verify brake adjustment by manually holding in solenoid plunger. When brake is properly
adjusted, the brake shoe pads should make complete contact with brake drum with sufficient brake
spring tension to stop and maintain door when solenoid is de-energized. When solenoid is
energized, brake shoes should release from drum with sufficient clearance to avoid contact
between shoes and drum.

To adjust brake tension, tighten (to increase) or loosen (1o decrease) nylon lock nut on brake

spring bolt. Observe solenoid during electrical testing of brake. Brake spring tension must be
adjusted so that solenoid should pull and releasc smoothly and quietly. Too much or too little
tension on brake spring may cause solenoid to burn out.

To adjust individual brake shoes, loosen nut on brake shoe adjustment bolt and adjust bolt. When
properly adjusted, there should be a small clearance between adjustment bolt and solenoid bracket
when solenoid is de-energized. When solenoid is energized, brake shoes should move away {rom
drum with sufficient clearance to avoid friction between brake shoe pad and drum. After
adjustments are made be sure to tighten nuts on brake shoe adjustment bolts.

BRAKE PLATE
BRAKE SHOES
BRAKE PAD

BRAKE DRUM

BRAKE SHOE
ADJUSTMENT BOLTS

BRAKE SHOE
ADJUSTMENT NUT

BRAKE SPRING
BRAKE SPRING BOLT:

SOLENQGID
BRAKE CABLE
SOLENOID LEVER



14

EMERGENCY 'MANUAL OPERATION—'

- The operator is equipped with a quick relcase disconnect system to manually operate door in
case of emergency. This feature should not be used to manually operate a mal{unctioning
door.

WARNING

TO REDUCE TIIE RISK OF INJURY OR DEATH:

DO NOT ATTEMPT TO USE EMERGENCY DISCONNECT
SYSTEM WHILE OPERATOR IS RUNNING.

TO AVOID BEING STRUCK BY DOOR ARM, DO NOT STAND
DIRECTLY UNDER THE RELEASE ARM WHEN PULLING THE
RELEASE CORD.

1. Pull the release cord downwards to disconnect trolley arm from carriage and manually operate
door.

2. To reconnect door arm to carriage, pull emergency release cord and re-insert trolley arm to
trolley carriage spring pin.




OPERATOR MAINTENANCE

WARNING

TO REDUCE THE RISK OF INJURY OR DEATIL

DO NOT ATTEMPT TO SERVICE THE OPERATOR UNLESS
POWER SUPPLY HAS BEEN DISCONNECTED

Inspect manual function of the door every 3-months. Make sure that door runs smoothly, If
door does not manually open or close freely, have a qualified service person make repairs. Do
not attempt to electrically operate a malfunctioning door.

Everv 3 months:

1. Verify that door area is kept clean. Remove any obstructions that would prevent proper
door operation.

. Check for any excessive slack in chains. If chain adjustment is required verify and
adjust limit switches, if necessary.

. Verify and adjust clutch and brake (Do not lubricate).

. Lubricate chains, bearings and limit shaft.

. Verify that motor, solenoid and operator runs smoothly and quietly. Verify that
carriage runs smoothly on tracks.

R

Lh s L

Every 6 months:

. Verify tightness of all fasteners and set screws.
. Verify that operator is properly secured.

. Inspect manual disconnect.

. Verify tension and condition of V-belt

oo 2

|. Perform a complete service check.

2. Verify that inside of control box is clean and that grounding wires, terminations and
power lerminations do not show signs of corrosion.

. Verify tightness of all terminal strip screws and electrical connections.

. Verily power supply, voltage of input terminals during operation.

. Verify that current consumption of operator corresponds to nameplate information

hods e



S 13WIS | IX-GLdY-LdvDdd-0E 314 O¥D

VNOISIAHY

1/7 +39%d g :37IS _ Q1 '1HDIIM
d1dV-Odd/LdvV-Odd R
HOLVIAJO 0F=XX'
INSALAVAY AHTIOUL | | saou bt v swmswae
"ONI SIWHLSAS NVNVOIN [ ALNAY | G3AD8dY | 3180
™a el 809090




Replacement parts list PRO-APT/APTB

FRO-APT | PRO-APTE
CODE PART # |DESCRIPTION [PRO-APT) CiW BRAKE
aTY aTy
& 1 MOTOR 1 3
2 1
3 1 B =
4 1 -
3 ) 7
[} 1
2 2
3 Z z
TKOC004 g 5 5|
MJCOO0R 10 3 3 )
11 ] 2
&
13 z 7
. = z :
MGO0007 HEX WYLCN LOCK NUT 2 7
TAHG000E COLLAR 321D 1 i
MRO0ZEE 77 [VERTICAL MOTOR MOUNT 3RACKET PRO-AFT (MEI10282) 1 1
" hnMooaE | 18 |CONTROL BOX HINGE 2 2
MIgono1 | 18 |[MOTOR PULLEY 5L 5810 X200 1 1
MEOGTS 20 |REYWAY 316 S0 x 1-1/4" LONG 1 1
| Liiooos4 21 |FULLEY 9" 00 ofw bushing 314" 1D 1 3
MINOD0S 22 |W-BEL B 1 1
MJO0D0d 23 [CLUTCH PLATE ALUMINILM 327 10 1 i
[ wicoooo7 74 |SPRING PIN 174" x 2" LONG E 1 3
100005 25 [CLUTCH PAD 3410 o 1 T
WMED0014 25 |SLOTTED HEA MU 1 1
R 27 |BELLE 8 6
MQ00a02 28 |COTTEZR PN 1/8 % b 1 T
WFOOD12 25 |CARRIAGE BCLT 5M16-18UNC x 58 4 7
WMG000T2 30 |RIGBED HEX NUT -18UNC 2 | s
TAHOO0CE 31 |COLLAR 34" 10 2 H
| HODODY 32 |COLLAR1"ID 32 2
MFO0DES 33 |R.H. PHILLIPS MACHINE SCREW A0 UNG 5 2" 2 2
TADG0050 3% 410823 % 1" 5 1 1
1AD00005 37 210812 X /8" 1 f
| _1DoD38T 38 CHAIN 40 PITCH Covv CONNECTING LINK 1 T
11300058 3% 11832 % 1" T 1 1
DN000E 2] |SPROCKET 41810 x 24" K 1
TDD0007 3 DRIVE SPRGLAET $1B1Z % 1" 1 i
| tiDoo3sz 27 |41 ROLLER CHAIN 51 PITCH DRIVE 1 1
MEDGDST 23 [NPUT SHAET 304 12.775" o kw 1" thread 1 = 1
MEDUNTT 4 RETWAY /4" S0 x 1-1/4" LG 1 1
ME00016 47 |SPRINGFEINZ -1/4" Long 1 1
MQD000S. 25 |SPRING PIN 31187 % 1-1/2" Long 2 2
 MFOO00TT 50 |H.H.30LT3 UNC X 5" LONG iz 12
00003 51 |SET SGREW S 12 14
WQ0000G 52 |SET SCREW 174" -20 3 5
MEDOU4E 53 |F.H. SLOTTED SELF ROUNDING WASHER HEAD SCREW 10-32 UNF x 172" 5 5
TK00154 54 : MSI0186
100282 55 |SOLENQID LEVER PRO-APT MSIN283
| MFO0003 56 . FHILLIPS MACHINE SCREW 10-32 UNF x 518"
Ma00007 57 |COTERPIN 1/8x 1.5
MGOD0TE 58 |FLAT WASHER #10
MGCD00s 58 |FEX NYLON NUT 10-22 UNF
MKD0C28 614 |SOLENGID 120V
WKDO0Z7 513 |SOLENOID 220V
KO0028 51C_|SOLENCID 280V
WKOO002g 610 |SOLENOID 575V
00202 62 |ERAKE DRUM
100801 85 |BRARE SHOE !
1400002 54 |BRAKE SHOE RIGHT ]
MHOZ00Z 55 [MILD STEEL BUSHING /321D x 13/3200 »1-1/16
| __mogoooz 56 |BRARE COMPRESSION SPRING (5/16'10-055-2.50L)
100008 57 |HEX NUT 1/4-20UNC
1MG0D00S 55 [HEX NYLON LOCK NUT 1/2-20UNC
ME00028 B0 |HEX HEAD BOLT 1/4-20UNC x 1-1/4" (Full thread)
TF00028 70 |HEX HEAD 30LT 1)4-20UNC x
TAEGO0AL 71___|HEX HEAD BOLT 1/4-20UNC x
| _mMGoo0iy 72 |14 FLAT WASHER
ME0C010 74 |RIBBED HEX NUT 10-32UN 2
LOCH WASHER 3/8" 2
FLAT WASHER 13/(15" |.0.x1.500 (3/4" SHAFT SIZE) 7
RIBBED HEX NUT 38" - 16UNC 10

|BRAKE DISCONNECT CABLE 116" x 12" LONG

Y

|ADJJSTABLE CABLE STOPPER =

|FLAT WASHER 718" [0 x 1-1/&" 0D 2 2

FLANGE BEARING 1. 1" UCFL-205 18 Z-.HOLE 2 2

LAT WASHER 1- B 2

THEX HEAD 3CLT 4 4

[RIBBED HEA NUT ] 1 4

INTERMEDIARY SE FRO-HHD) 1" X 10-7/78 1

PRECISION BEARING i ALUMINUM HOUSING 2 7|

KEYWAY 174”50 314" LG : _Z 3

NUT 10-32 ] — 4

] 7 2
FHILIPS MACHINE SCRE _ 4

. 4
A s e

3 =

BT 2 & 2
GO0 [ 178 |FLAT WASHER 28 =] Z T 1 |
MQUOT0_ | 180 |SET SCREW 10-24 | 1 | g |




RADID o ("FOR z20V:
RECEINER AEMOVE BLACK WIRE
- NG ADVANCED () FROM C6 AND PLACE OM Ot

o teEn
OLMIT SWITCH e
—MOTOR RELAY(M), TRANSFORMER
AND SOLENOID {IF APPLICABLE)
MUST BE 220V
— CIRCUIT BREAKER MUST GE
AFPROPRIATE AMPERAGE
— MOTOR MUST BE WIRED FOR
\__ 220V AS SHOWN ABOVE y

WHITE
WHITE

RADID
B4V CONTALT POWER

open O L GRA — FED

LIMIT SWITCH N.0.

LIMIT SWITTH

o @]

WHITE——y

JUMFER BETWEEN 2 & 3

[ IF 5TOP BUTTON NOT USED, ADD]

TIME DELAY UPON REVERSE.
(OFTIONALY
IF 1.5 SEC TIME-DELAY UPOM SAFETY
REVERSE |5 REQUIRED. REMOVE THE
X% % PURFLE WIRE FROM TERMIMAL #& |
il

| EENERSTN AND COMMECT TO ONE END OF
A \L RE;{EES:NE MDHJSR \EE!EM EREELSYI & TIME-DELAY AND GTHER END,

24 WAC OrR 220 VAC 24 VAC \ BACK TO TERMINAL #4. o

’L.l_‘lyi_‘l %%‘I L.l—_‘l}%%'l Eh ST N -

1l 5 I-Ni I-NC 2-NC 3-NC
— —

o
ra

z
o

I-NC  2-WC
— -

P
& TIMER TO CLOSE FUNCTION

AUTOMATIC TIMER TO CLOSE IS
ACTIVATED WHEN DOOR 1S FULL DPEN
THIS OPERATOR LEAVES THE
FACTORY WITH RADIO CONTROL TO
OPEN ONLY AMD REFRESH TIMER.

IF RADIO CONTROL IS REQUIRED TO
OPEN AND CLOSE. REMOYE RED

WIRE FROM TE8 AND PLACE ON TEBS.

WOTE: FOR SAFETY REASONS.
MICANAN DGES NOT RECOMMEND
THAT THE RADIO CONTROL CLOSE
L THE DOOR WHEMN & TIMER I3 USED. )

3-MD 5-MO L-HO 5-NO &-NO
o

YD_LI]V—l
‘|
=
o
:

|—
O
(7]
m
Fa
o)
N
Yﬂ
o
X
o
I
(=]
=
L—-—- WHITE

YELLOW
ORAMGE

WHITE

WHITE.
BLUE-

= BROWH—
— GRAY

5-COM  6-COM 7-COM [B-COM 9-COM

,,.
m

TELLOW—
PURPLE

WHITE:
YELLOW
GRAY-

TELLOW
YELI

]
=]
2l

Iz s
=] ] @] =] il

I 1 BLACK

¥ LGRAY GRAY TIMER
RAY RAY 24 WAC
RED. RED 1
YELLOW YELLOW

BE USED FOR FIELD CONMNECTIONS

( NOTE: MIMIMUM 1B AWG WIRE MUSTj

BLACK TIME DELAY 65
15 SEL.

5 c

FUSE 24, 7le|l1]| e

2 /N WARNING R
MICANAN STRONGLY RECOMMENDS THE
USE OF ENTRAFMENT PROTECTION
SYSTEMS WHEN B2 (MOMENTARY

\SONTACT) WIRING IS USED.

{IF LUSEDY

(T NOTE:

= T0 REVERSE MOTCR DIRECTION
INTERCHANGE BLACK AND WHITE
WIRES ON REVERSING STARTER.

]

BRAKE SOLENOID {IF USET)

= 1)
RESET WP s
c-5

HITE
HITE

PURPLE

BLACK
WHITE:
YELLD
YELLOW
YELLOY
YELLOW-

i WHFIE 120 VAC
1 PHASE

GREY
0-6 EEL
SEE CORRESPONDING ASTERISKS ON REVERSING STARTER.

‘C* DEWOTES “CLOSE" SIDE OF REWERSING STARTER.
*0" DEWOTES "OPEN’ SIDE OF REVERSING STARTER.

{1 BRAKE SOLENOID CIF USED?

7 [
O * ‘\.'EJTE

'4/‘ '/‘ "/‘ '/’ 220 VAC
: ; f ; ; ; | | C-5 ~—“E“—E 1 PHASE

I 1

%\g! 3TOF chu_wm CLOSE SAFETY oo™ Eu;!:‘:: 24 VAL 0-5 RED
1 e 4 D 6 7 8 9 POWER SUPPLY SEE CORRESPONDING ASTERISKS OM REVERSING STARTER.
e g e 5, ITES Lot S IF REvERNG STARTER
& i 3 rcLosE ;
' Iw PHASE APARTMENT ]ﬁf‘[‘gﬂ?k SINGLE PLﬁH—mFJ'ITEN STATION TwDO FLSH—WWDN‘STRT]EIN ‘f‘g[ggNT[fg% <E’anNc‘]])HE¥;IcC§> RADIO FE(II\-"ER EP‘:_T.\I’ch
MSIOOAPT-WW \@;@l gﬁ [ ;
Bg BlE

REV. C [ DATE: 07.07.09
TECH. HELP LINE:

CANADA: 1-(877) 888-1116

Elz=) |

| USA: 1-(888) 816-8584 j

REK%VMFT::EET?Y CLOSE-1 CLOSE-2
JUMPER TF EXTERWAL L
PN e BTRLDE L ot
MICANAN PLACE A WAL TS ol o o s
R et ey WIRES ACRESS THESE __II REVEREE OPEN AWAILBLE
v TwO TERMIMALS, WIRE W HUT DEVICE COMMANTD 1BWA MAX,
THE INFO ATION CONTAIMED HEREIM |13 FROFRIETARY TO MIC {01l MOT BE REPRODUCED OR LOSED OR USED FOR AMY DESIGN OR MANUFACTURE EXCEPT WHEN USER

USSESSES DIRECT WRITTEN AUTHORISA

FROM MICANAN




COM

ARVANCED (O

CLOSE
WHITE OumiT switcH

(FOR 220-

REMO'\"._ BLACK WIRE

JUM
l’F'LE.\?\QE R MOVE}
NOTE:
= MOTOR RELAY(M), TRANSFORMER
AND SOLENOQID (IF APFLICABLE)

MUST BE 220V.
— CIRCUIT BREAKER MUST BE
N.C. . N.C. APPROPRIATE AMPERAGE.
AUiIL_Ia\IRY oren O s RED. O ciose — MOTCR MUST BE WIRED FOR
OLIMI'ITPS:V’:ITEH o) LIMIT SWITCH | N.D. NG| LT S'NITCHO \___ 220V AS SHOWN ABOVE .

E [Hi]

- = = L

4 & DRANG ORANGE

¥ o5 CoM caom ORANGE— [ oRANGE toM

[ IF 5TOP BUTTON NOT USED, ADD
| JUMPER BETWEEN 2 & 3
g e
TIME DELAY UPON REVERSE.
(OPTIONAL)
IF 1.5 SEC TIME-DELAY UPCN SAFETY
E |5K 3 REVERSE |5 REGUIRED. REMOVE THE
I | | REVERSING WOTOR REVERSING PURFLE WIRE FROM TERMINAL #&
RELAY RELAY RELAY AND COMMECT TO O_NE EMD OF
,- 24 VAC 115 VAC 24 VAC TIME-DELAY AND' OTHER END,
(N 2 EHAVEI S I BT TOTERRINAL ¥ J
1 } 3 [ 5 [ 1 1 } 3 5 I-NC 2-NC i-NC F!;N.C Zﬂc
——— w——
= 2|2 J1 2l z :1_ + 2 K [N}

13 21 Al 13 21 Y w w5 g 3-NG L-ND WS E -L—_M} 5-NG 6-NO é w o !E g e
et ZF —— =) 5 = @ 2 oE ——
3agg ik £ 3253 | A merric ot sravence

5-COM  6-COM 5-COM  6-LCOM 7-COM |3-COM 9-COM
OPENCDD CLOSEW [oomm w— J | | WHEN DOOR |S FULLY OPEN, GREEN
4 . Bl 4 LIGHT ON FOR AN ADJUSTABLE TIME
14 22 A2 | 14 22 A2 It g (7 i glz 5 ) gwdd | SET BY "GREEN DIAL ON DUAL
] BT e | N M B 1 M S8z = E8 a EE ] Z2325 % | TIMER AFTER GREEN LIGHT TURNS
2 4 6 L la flg Wg |2ms = 2R BRXTE | ore RED LIGHT TURNS ON FOR AN
ADJUSTABLE PERIOD SET 8Y “RED"
T T3
Salrdalial ﬁ} al DIAL ON DUAL TIMER. WHEN RED
lr LIGHT TURNS OFF, DOOR CLOSES.
A‘ [ ACTIVATION OF ANY SAFETY OR
2 K__/ I l OPEN DEVICES WILL R
L TRAFFIC LIGHT SEQUENC
\. 5
*
“ELACK: -
GRAY— | 7 NOTE: MINIMUM I8 AWG WIRE MUST
e BE USED FOR FIELD CONNECTIONS.
’ ? <
- P -~
7 g L /N WARNING
= 2
2 g BEZ |MCANAN STRONGLY RECOMMENDS THE
[ S 8 | USE OF ENTRAPMENT PROTECTICON
SYSTEMS WHEN B2 (MOMENTARY
| CONTACT) WIRING IS USED. 2,
[l
Bri=d
o} g . I5/E20/E0EV AL
@ = o ;
5 e ]
= ul N NOTE:
£ z Ll F TG REVERSE MOTOR DIRECTION
“ 40 VA INTERCHANGE BLACK AND WHITE
e WIRES DM REVERSING 5TARTER,
-~
BRM(E SOLENOID (IF USED)
1 — ‘RED’ & ‘GREEN - |
& Sz u z 222 i RESET ] TRAFFIC LIGHT
5 54 5E - 2 433 > 5 | g 120 VAC, e
= 3B E2 ¥y & RED £ s 40 WATTS -5
MAXIMUM, |:| & RED
SEE CORRESPONDING ASTERISKS ON REVERSING STARTER.
*C* DENOTES "CLOSE* SIDE OF REVERSING STARTER.
“0* DENOTES ‘OPEN’ SIDE OF REVERSING STARTER.
BRAKE SDLEMOID <IF USED>
P P
) % W% GROUND %
O 2Lalsl el Lzl gl 1gll0] . |O pl(@) *
. "/‘ 7 ',/‘ 7, == . iy 220 VAC
] 3 ' ) ' : ! | | 5 1 PHASE
B SR oM CLOSE SAETY  CON DPEN 24 VAT 0-6 RED
1 2 3 4 S 6 7 8 2 POWER SUPPLY SEE CORRESPONDING ASTERISKE ON REVERSING STARTER.
15 VAC “C* DENOTES ‘CLOSE” SIDE OF REVERSING STARTER,
| PHASE, 60 Hz *0* DENOTES ‘OPEN® SIDE OF REVERSING STARTER,
h EXTERNAL SINGLE PUSH-BUTTON STATIDN TWD PUSH-BUTTON STATION SAFETY EDGE OPEN DEVICE RADIO RECETVER 24 VAC
‘ |- PHASE AFARTMENT INTERLOCK ’_@ 7 = (0. CONTACT? CRIOL CONTACTY POWER
| P BATE B 07 Ea@‘ Eg ;} E ‘ ‘E‘jﬂ ‘Eg‘ga‘
CANADA: 1-(877) 888-1116 [W’EE:W [TPEEE]
L USA: |-(888) 816-8584 ] = 0 ot
‘?E'imsi@fggﬂ' CLOSE CLOSE=1 CLOSE-2 =
JUMPER IF EXTERNA&L — _I'_"‘ B 1 O
i INTERLOCK
MICANAN G i ops y oo v
o ; : CLOSED SET OF — SAFETY POWER
WIRES ACROSS THESE REWVERSE OPEN AVAILBLE
v TwD TERMINALS. U]REQNUT IEVICE COMMANT 10VA MAX.

THE INFORMATION COMTAINED HEREIN 1S PROFRIETARY TO MICAMAN SYSTEME INC
FOSSESSES DIRECT WRITTEM AUTHORISATION FROM MICANAN SYSTEMS INC.

AWD SHALL NOT BE REFRODUCED OR DISCLOSED COR USED

FOR ANY DESIGN CR MANUFACTURE EXCEPT WHEN USER




BRAXE SOLEMOID (IF USEI?
- COM
RADID NE.J ADEAEEY O * o2/ = L
RECEIVER R N.C. O Lmr
E SWITEH
-4 [0
H HEE i m )

o-6 [07L] 3

/\,Kﬂ /ﬁ] | SIE CORMESPONDING ASTERITKS DN REVERSING STARTER:
NE T ’I¥ MEWOTES ‘DPEW SIIE OF REVIRSING STARTER

AUNILIARY (| .E. ] T —— RED CLOSE
HPEN N, LIMIT NO LIMIT
O ey i ) SWITCH T SWITCH ()
L’—" RANGE: ORANGE-
coM com
ORANGE—] ,—URQNEE
ORANGE:
WHITE.
il
YELLOW YELLOW:
RE. WHITE
A WHITE
CRAY GRAY
it REW. RELAY
24 VAC
| 1-NC 2=NC 3-NC
Sl
’L NN . S 4-ND 5-NO 6-NO
i
1l | 7-COM [B-COM 5-COM
(I e ot
1 ‘l 3 D 1 [ 3 [ 5
=] = = =)
> p 13 2l al 13 21 Al
§ | 3
s [= EZ
¥ oy & OPENCO> CLOSECES WHITE:
YELLOW-
14 22 AS 14 22 AC RED
> 1w e UT U Ta e - .
@l =] =] ] %:‘ =]/ ] i note: (D)
TO REVERSE MOTOR DIRECTION
T S8 A0 IR 573 INTERCHANGE ANY 2 OF THE
BLAEK 1 INCOMING POWER LINES CONMECTING
BLACK ] ! TRANSF DRHER TO POWER SUPPLY TERMINAL STRIF
BLACK ! 40 VA LI L2, L3
L—BLUE = \ A
£D I WHITE i - ~
YELLOW | FUSE 2A. /1\ TIME DELAY UFON REVERSE.
" RED.
J — IF 1.5 SEC TIME-DELAY UPON SAFETY
[ e TIME DELAY LS Sec REVERSE 15 REQUIRED, REMOVE THE
VH::E, SE PURPLE WIRE FROM TERMINAL #4 .
g _ AND CONNECT TO ONE END OF
e TIME-DELAY AND OTHER END,
BACK TO TERMINAL #&.

VAN

|

|

| IF STOP BUTTON NOT USED.

| ADD JUMPER BETWEEM 2 & 3.
|

|

MOTOR OVERLDOAD RELAY (JF USED)

x u -
E Lig pa EU- E g
Ilegs IBE B d :

-
& TIMER T CLOSE FUNCTION. \

AUTOMATIC TIMER TO CLOSE IS
} ﬁ\‘ ACTIVATED WHEN DOOR IS FULL OPEN
| THIS OFERATCR LEAVES THE
FACTORY WITH RADIO CONTROL TG
| OPEM OMLY AND REFRESH TIMER.
IF RADID CONTROL 1S REQUIRED TO
| OPEN A&ND CLOSE, REMOVE RED
| WIRE FROM TB& AND FLACE ON TBS.
|
|
|

MOTE: FOR SAFETY REASONS,
MICAMAN DCES NOT RECOMMEND
THAT THE RADIO CONTROL CLOSE
THE DDOR WHEN A TIMER 1S USED.

b oy

MOTOR INTERMAL
THERMAL 0/L
(IF USED)

. N warniNG
0 % % MICANAN STRONGLY RECOMMENDS
21151 el 1218 1210 1O O
7%,
' |
e

THE USE OF EMTRAFPMENT
FROTECTION SYSTEMS WHEN B2
(MOMENTARY CONTACT} WIRING 1S

; = = - i USED.
B4 VAL TP - CoH OPEN CLOST  SME (= ) OFEW 24 WVAC :P_®
G Gty o e — NOTE: MINIMUM 18 AWG WIRE MUST
1 e = 4 £ & 4 8 2 POWER SUPPLY BE USED FOR FIELD CONNECTIONS.
208, 460 OR 575 WAC, 3 PHASE, 60 Hz
3- PHASE APTARTMENT | o et e "_“i””" s | SRR | e o
MS300APT-WW [l Al
Z l17)
REV.C | DATE. 15.07.09 Bl :
TECH. HELP LINE:
CANADA: 1-(877) 888-lII6 [OPER-T] [[OFER-2]
R H
L USA: 1-(888) B16-8584 | 1 g
REWOVE FACTORY CLOSE—1 CLOSE-2 =z
i, i : ;
MICANAN e | gor1l | sz e
e ror b | ELOSED SET OF 7 STy ey SR
A J]RTE\-?D ﬁggmiuss.s: WIRE T T BEVICE COMMAND VA HAX.

THE INFORMATION € SIGN OR MANUFACTURE EXCEPT WHEN USER

POSSESSES DIR

KTAINED HEREIM 15 FROPRIETARY TO MICANAN SYSTEMS INC. AND SHALL NOT BE REPRODUCED CR
WRITTEN AUTHCRISATION FROM MICANAN SYSTEMS INC.

OSED OR USED FOR ANY D




EBRAXE SOLEMODID (F USED)

HAE

CLOSE 0-4 L

CILiMT swiTeH

e = A on =
RECEIVER NO. e
Fﬁ‘ ADVANCER (O leoc;m
VAL

WHITE
WHITE

0-5 (070 =2

CORRESPIMDING ASTERISKS [M REVERSING STARTER,
Tl' DEMOTES "DPEN‘ SIDE OF REVERSING STARTER.

N.C. o SRS
oren O o REC QO clese

I 3 ) Ml g i
O LIMIT SWITCH | N.O, WHITE MWD LiMiT QWPTCPO
FLRPLE —— R A

COM COM B

AURILIARY ()
OPEN
O LIMIT SWITCH

ORANGE F
—— ORANGE GOM I\ TIME DELAY UPON REVERSE
IF 1.5 SEC TIME-DELAY UPOM SAFETY
REVERSE IS REQUIRED. REMOVE THE
PURPLE WIRE FROM TERMINAL #L
AND CONNECT TO ONE END OF
TIME-DELAY AND OTHER END,
LEACK TO TERMINAL #4

' Ty

\f IF STOP BUTTON NOT USED,
REVERSING REVERSING ADD JUMPER BETWEEN 2 & 3.

mn
a3
h
g:b
(']*

A TRAFFIC LIGHT SEQUENCE:

FURFLE=—
I
=
<
o

— EROWN
-~

4

G

w

=]

o

=

=

g
ny

z

oy

=

x

m

=
ORANGE:

WHITE-
~ YELLOW
BLUE
YELLOW—— \‘EU.UU—i

BLACK
WHITE.
RED
GRAY

WHEN DOOR IS FULLY OFEN, GREEM
LIGHT ON FOR AN ADJUSTABLE TIME
SET BY "GREEN" DIAL ON DUAL
TIMER, AFTER GREEM LIGHT TURNS
OFF, RED LIGHT TURNS ON FOR AN
ADJUSTABLE PERIOD SET BY "RED"

]
7-COM [B-COM 9-COM @ @

o EI_IH
— DIAL ON DUAL TIMER. WHEN RED
LIGHT TURNS OFF, DOOR CLOSES.

T ACTIVATICN OF ANY SAFETY OR
DPFEN DEVICES WILL REFRESH THE
A TRAFFIC LIGHT SEQUENCE.

M

I

YELLOW = YELL Ol

BROWH—— BROWM

TELLOW-
BLUE:
PLRFLE

PURPLE

=)
L
1]
]
L
WHITE:
YELLOW =
L—GRAY-
e
=
@ e
ORAMNGE:
BLACK
RE

v

L — WHITE

TIME DELAY L5 Sec

/N waARNING
MICANAN STRONGLY RECOMMENDS
THE USE OF ENTRAPMENT
PROTECTION SYSTEMS WHEN B2
(MOMENTARY CONTACT) WIRING 1S
USED.

TELLOW
YEL LW
TELLOW
WHITE
WHITE
RED:

WHITE
YELLOW
PURPLE
RED

RED
BROWN

HOTOR
OVERLOAD
(IF USED ©
o

TRANSFORMER
40 WA

FUSE 1A.

({IF USED}

INTERCHANGE AMY 2 OF THE 3
INCOMING POWER LINES CONMECTING
TO POWER SUPPLY TERMINAL STRIF
LI, L2, L3.

] INT

ERLDCE
FUSE 24,
— e T}—suack

[TE-
ELLOW-
AT

ORANGE

-~
R MODTE MINIMUM & AWG WIRE MUST
}\__/“ BE USED FOR FIELD CONNECTIONS.

PURPLE

TELLD
YEL LD
YELLOW-

{IF USED)

o)
S-Sr—]

22
noTe: (1)
TO REVERSE MOTOR DIRECTION

MOTOR INTERHAL
THERMAL 0/L

- e,
‘RED" % ‘REEN" TRAFFIC LIGHT
10 VAL, 40 WATTS MAXIMUM,

% 7) W% GROUND 7
e

€] 85||[5]1O | @) 2| SO
L__-J L] L L] T T T |
a;ﬂ\\:?t 5TOR oM OFEN CLOSE ]‘tﬁﬂg o™ gﬁ]gc o4 VAL

1 2 3 4 5 6 7 8 9 POWER SUPPLY
208/230. 460 OR 575 VAC

3 PHASE, 60 Hz

3_ PHASE APTARTMENT B ]E‘?‘\r'rEERRLhI;\t_Ik SINGE PUSH-EUTTON STATION TwD PUSH-BUTTON STATION (ia;tg&;g} :EN'_;‘Q,ENCMTE) RADIO RECEIVER a;m,\fzkgc
MS300APT-DT-WW [ WA
REV. D | DATE: 07.07.09] ]
TECH. HELP LINE.
CANADA: |-(877) 888-1116 Lr[__lm_ﬂ L{Elz—ta
___ USA: I-(888) BI6-8584 ] . [ OTI =
LOSE-1 CLOSE-2 E
Mlc'rmar'ugANq CLOSED SET OF L. | STOP_Z; i SAFETY ?i;‘J:E%
D RSN gt || SR | AN

EXCEPT WHEN USER

THE INFORMATION COMTAINED HEREIN IS PROPRIETARY TO MICANAN SYSTEMS INC. AND SHALL NOT BE REPRCDUCED OR DISCLOSED QR USED FOR ANY DESIGN OR MANUFAC
POSSESSES DIRECT WRITTEN AUTHCRISATION FROM MICAMAN SYSTEMS INC.




MICANAN SYSTEMS warrants that materials and workmanship are free from defects for a period of
two vears from the date of invoice. Materials returned to Micanan deemed defective after examination
will be returned at the option of Micanan with repaired, new or re-manufactured parts.

MICANAN SYSTEMS will not be responsible for any cxtra charges incurred in the process of returning
defective material. All returned material must be received pre-paid or it will not be accepted.

This warranty is limited, and in lieu of all other warranty expressed or implied. There is no expressed
liability due on the part of the seller.

Commercial Door Opening Devices

MICANAN SYSTEMS INC.

HEAD OFFICE PHOENIX ATLANTA
1380 St-Regis 1236 W. Southern Ave. 2885 N. Berkeley Lake Rd.
Dorval, Quebec Suite 104 Suite 7
Canada, H9P 2T5 Tempe, Az Duluth, Ga
USA 85282 USA 30096
TEL: (514) 822-1116 TEL: (480) 557-0070 TEL: (678) 584-2543
1-877-888-1110 "1-888-816-8584 ' 1-800-798-2543

FAX: (514) 822-1118 FAX: (480) 557-8488 FAX: (678) 584-2544




